
Latin Grammar II 
FJCL State Latin Forum 2023 

 
I.  Select the word that does not belong grammatically. 
 
1.  a.  utor  b.  fungor c.  adipiscor d.  vereor  
 
2.  a.  navim  b.  vim  c.  malim d.  turrim  
 
3.  a.  summus     b.  maximus c.  minimus d.  pessimus  
 
4.  a.  moneris  b.  regeris c.  iuberis d.  teneris  
 
5.  a.  de  b.  dei  c.  dii  d.  di   
 
6.  a.  Marce  b.  deus c.  fili  d.  nunti  
 
7.  a.  laudaverim b.  audaverint c.  laudaverImus d.  laudavero   
 
8.  a.  amaturum esse b.  amari c.  amatum esse d.  amandum esse  
 
9.  a.  Romae  b.  Corinthi c.  domus  d.  Delphorum   
 
10.  a. pacem  b. puerum c. regum  d. diem 
 
II.  Select the answer that correctly translates the underlined word or phrase. 
 
11.  The ships must be found at once.  
a.  inventae esse b.  inveniendae  sunt c.  inventuras esse d.  inveniendae essent 
 
12.  With the gates closed, Turnus was trapped inside the camp. 
a.  Portis clausis  b.  Cum portae clausae sunt  
c.  Portis claudentibus    d.  Cum portas clauserunt. 
 
13.  He searched all night without sleeping. 
a.  dormiente  b.  dormienti  c.  dormiendo  d.  dormiendi 
 
14.  He feared that the boy was not living. 
a.  ut puer viveret. b.  ut puer viverit c.  ne puer viveret d.  ne puer viverit 
 
15.  The rest of the horses were found safe. 
a.  equorum b.  de equis c.  equi  d.  ex equis 
 
16.   So great was the confusion that everyone was speaking at once. 
a.  locutus est  b.  loquebatur  c.  loquerentur  d.  Loquebantur 
 
17.   I demanded that he hand over the letter. 
a.  tradere b.  tradidit c.  tradat d.  traderet   
 
18.  I have seen this happen too often. 
a.  saepius b.  saepissime  c.  maxime saepe d.  paulo saepius 
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19.  She hurried to her room to find her cloak. 
a.  invenire  b.  ut inveniat  c.  ut inveniret  d.  inveniendo 
 
20.  They constructed a one mile bridge. 
a.  milium passuum b.  milia passuum c.  mille passus d.  mille passibus 
 
III. Choose the best answer 
 
21.  velim : volo ::  velis : ________ 
a.  voles b.  velles c.  volas d.  vis   
 
22.  In Rome : Romae : :  In the country : _________  
a.  in patriam  b.  patria c.  in patria d.  patriae 
 
23.  My father must not be found here by the dogs! 
a.  canibus b.  ab canibus  c.  canis d. de canibus    
 
24.  duo : duorum :: unus : __________ 
a.  uni  b.  unae c.  unius d.  unum  
 
25.  pedes : pedites :: eques : _________ 
a.  equites b.  equi  c.  equitatui d.  eques   
 
26. Volo ______  hoc carmen.  
a. tu audis b. tu audires  c. te audire d. te audires 
 
27. In the sentence “I’m about to head to the mall,” what would be the best translation of “I’m 
about to?” 
a. itura sum b. ego ibo  c. eo  d. irem 
 
28. Which of the following is not a conjunction? 
a. enim b. nam   c. quod d. erga 
 
29. Which of the following is postpositive? 
a. et  b. autem  c. nec  d. nam 
 
30.  “Intending to” is a translation of the __________ in Latin. 
a.  future indicative   b.  present subjunctive   
c.  future active participle    d.  present participle 
 
31.  He was careful in all his preparations. 
a.  abl. Of place where b.  abl. Of means 
c.  abl. Of specification d.  abl. Of degree of difference 
 
32. Cotidie Lucius Iulius Balbus in forum _______.  
a. iret   b. iisset  c. ibat  d. ierat 
 
33. Cleopatra femina ____________ erat.  
a. magnae sapientiae  b. magnis sapientiis  
c. magnam sapientiam d. magnas sapientias 
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34. Hercules tam fortis erat ut semper ________________ 
a. vincebat b. vincit c. vinceret d. vicerat 
 
35. Cloelia _______ flumen natavit.  
a. ad  b. trans c. citra  d. super 
 
36. Disipuli non intellegunt cur magister __________. 
a. clamavit b. clamaverit c. clamabat d. clamaverat 
 
37. Cras Iulia ad forum ______________. 
a. it  b. ibat  c. ivit  d. ibit 
 
38. Marcus Quintum amat _______ Quintus pulcher est.  
a. quod b. quae c. qui  d. et 
 
39. Sextus Lucretiam lanam ____________ vidit.  
a. laborat b. laborare c. laborabat d. laborari 
 
40. Cum piscis natat, cauda__________. 
a. movet b. movetur  c. movere d. movent 
 
IV. Use the following passage from Cornelius Nepos to answer the final questions.  
 
1 
2 
3 
4 
5 
6 
7 

At Hamilcar, posteaquam mare transiit in Hispaniamque venit, magnas res secunda 
gessit fortuna: maximas bellicosissimasque gentes subegit, equis, armis, viris, pecunia 
totam locupletavit Africam. Hic cum in Italiam bellum inferre meditaretur, nono anno 
postquam in Hispaniam venerat, in proelio pugnans adversus Vettones occisus est. 
Huius perpetuum odium erga Romanos maxime concitasse videtur secundum bellum 
Poenicum. Namque Hannibal, filius eius, assiduis patris obtestationibus eo est 
perductus, ut interire quam Romanos non experiri mallet. 
*locupletavit-enriched 

 
41. What case is mare, line 1?  
a. nominative  b. genitive c. dative d. accusative 
 
42. Secunda, line 1, modifies which of the following?  
a. Hamilcar  b. mare c. res  d. fortuna 
 
43. Pecunia, line 2, is an ablative of______? 
a. means  b. manner  c. agent d. material 
 
44. Meditaretur, line 3, is which tense?  
a. present  b. imperfect  c. future d. perfect 
 
45. What is the best translation of nono anno, line 3?  
a. nine years  b. in the ninth year c. from the ninth year  d. with nine years 
 
46. What is the best translation of ocissus est, line 4? 
a. he died  b. he dies  c. he was dying d. he was about to die 
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47. What part of speech is erga, line 5? 
a. conjunction  b. noun  c. preposition  d. pronoun 
 
48. What is the subject of videtur, line 5? 
a. Hamilcar  b. odium  c. bellum  d. Hannibal 
 
49. Assiduis, line 6, modifies _____. 
a. filius   b. eius   c. patris  d. obtestationibus 
 
50. Which kind of clause is found in line 7? 
a. relative clause of characteristic  b. purpose clause 
c. result clause    d. indirect statement 
 
 
   


